
QUIZ   

 

1. W N E S 

  - - - 1NT 

 P ?    

     

 

What call would you make with each of the following? 

a) b) c) d) e) f) 

♠A10982 ♠J5 ♠10987 ♠Q876 ♠5 ♠A4 

♥6 ♥KQ94 ♥A75 ♥AJ1085 ♥AQ108642 ♥K85 

♦KQ106 ♦A76 ♦KQ8 ♦K3 ♦J109 ♦Q94 

♣J104 ♣KQJ2 ♣Q92 ♣J9 ♣84 ♣KQJ84 

 

2. W N E S 

  - - - 1  * transfer  

 P 2 P 2      

 P  ?   

 

What call would you make with each of the following? 

g) h) i) j) k) l) 

♠64 ♠6 ♠J10 ♠KQ7 ♠A74 ♠Q10842 

♥QJ983 ♥K8742 ♥J10964 ♥AJ1082 ♥AQJ9843 ♥A10975 

♦K2 ♦QJ105 ♦A97 ♦KJ4 ♦9 ♦62 

♣J864 ♣AJ2 ♣K32 ♣Q6 ♣Q8 ♣3 

 

3. W N E S 

  - - -  (−) HCP     

  P ?   

 

What call would you make with each of the following? 

m) n) o) p) q) r) 

♠Q764 ♠98762 ♠J32 ♠42 ♠J98 ♠QJ973 

♥J3 ♥KQ1042 ♥864 ♥J98764 ♥K1065 ♥AJ84 

♦QJ92 ♦8 ♦975 ♦1053 ♦KJ4 ♦2 

♣853 ♣Q7 ♣QJ75 ♣98 ♣Q73 ♣1094 

             

   

4. W N E S 

  -  - 1    1NT         

 P ?   
  

 

What call would you make with each of the following? 

s) t) u) v) w) x) 

♠QJ104 ♠J10964 ♠9 ♠9 ♠K874 ♠AJ10 

♥Q95 ♥3 ♥72 ♥64 ♥5 ♥2 

♦K1063 ♦K985 ♦Q1098742 ♦853 ♦AQ32 ♦AKQ10742 

♣J2 ♣J72 ♣Q93 ♣AQ109832 ♣J1095 ♣J3 

 
 
 



     Answers 
 
a) Transfer to spades and rebid three diamonds (forcing). 
 
b) Bid two clubs in search of a 4-4 heart fit. 
     You will later make a slam try. 
 
c) Bid 3NT since you own a perfectly balanced hand. 
 
d) Begin with Stayman and, if partner denies a four-card major, reveal that you hold five 
spades as per your agreements. 
 
e) Respond four diamonds as Texas Transfer (to four hearts). 
 
f) Bid 4NT as a quantitative raise inviting slam if partner holds a maximum. 
 
g) Pass since you own insufficient values to continue. 
 
h) Transfer to hearts and rebid three diamonds (forcing) to reveal an unbalanced hand, 
 
i) Transfer to hearts and rebid 3NT offering a choice of games. 
 Possession of two tens and a five-card suit warrants this action. 
 
j) Transfer to hearts and rebid 4NT inviting slam in hearts or NT. 
 
k) Rebid four diamonds as a splinter (singleton) in search of a heart slam.  
 
l) Rebid two spades disclosing 5-5 in the majors but only invitational values. 
 
m) Employ Stayman and advance to 3NT if partner does not rebid spades. 
 
n) Transfer to to hearts and rebid three spades to show 5-5 in the majors but no slam 
aspirations. 
o) Pass not enough for game. 
  
p) Transfer (three diamonds) and quit. 
 
q) Raise to 3NT not enough for slam. 
Do not use Stayman with a pancake pattern. 
 
r) Start with Stayman and reveal a five-card spade suit as per your agreements. 
 
s) Advance to 3NT because all finesses will work with LHO having opened the bidding. 
 
t) Transfer to spades and quit. 
 
u) Bid two spades as a relay to three clubs which you will correct to three diamonds ending 
the auction. 
v) Raise to 3NT relying upon the club suit to be worth at least six tricks. 
 
w) Bid two clubs as Stayman to check for a 4-4 spade fit. 
x) Bid four clubs as Gerber and settle into a diamond slam. 



 


